






















Consider x a acts

x tax bae tab

I atb x tab

Factorising is the reverse of this expanding process

Ext
x t 5 6

I 6xtzkets I I
2 3

Ex I I x 24 I 24
I 24

x 3 x 8 2 12

2 12

3 8
3 8

4 6
4 6

Ex I 3x 10

G 2 6 5
1 to
I 10
2 5
2 5

Exa 72 7 18 1 18
I 186 276 9 2 a
2 9
3 6
3 6

Factorising Quadratic Expressions



I 20Ext X2 X 20 I 20
x 4 x 5 2 10

2 to

4 su
4 5

Homework Factorise

I sit lx 18

2 X 6 8

3 I x 12

4 I 3 10

5 of 10 24

6 I 2x I

7 X 8 20

8 R2 14 15

9 se tax 114

10 22 212 100 I


